~ WURTH

v Yo

S WIT-PE 1000
PURE EPOXY

BASIC
WIT-PMm 200

AHKEP TEXHOJIOIW
WWHIH TN



WUERTH MONGOLIA Bl nye
ONLINE SHOP w WURTH

OHNAWH [ANTYYP33P YANYNYYM3PN

nnnnnnnnnnnnn

e —

BIOPT MOHTOR
OHNAWH ATYYP HIIAND

T
175}

Facebook Page %
amd  Xyyancaap 3ounooport

LEete0ED
4]

e M heseasan T

A33px QR CODE -r ywnmyynaapg
£ Tpynnr Harpa3pai




ww WURTH

MNTYYPUWH BAUPLLIMN
LWATUWH XYBAAPD

KH APARTMENT
TOB ANTYYP

LlaruiH xysaape: barpwmn:
Ha-ba 09:00 - 18:00 XY, 15-p xopoo, SHXTAMBAHbBI TYYPHUIM 3yYH YPA
Bamba 12:00 - 16:00 KH Anaptment naroyrasp nasxapt WURTH panryyp.

Hsm AMapHa

Llaruin xysaape: barpwmn:
Ha-ba 09:00 - 18:00 Y[, 5-p xopoo, Hucasr MawwmH tTeseec 3cap cyM pyy
Bamba AmapHa ypyyaax 3am aaryy Anant [nasa tes Harayrasp nasxapr.

Ham 12:00 - 16:00



ww WURTH

Tapumr

Xyyaac
LMHIAH TN3IY WIT-PE 1000 5-8
LMHIH TN3IY WIT-PM 200 9-11
LMHIAH TNV BYCALL TOPON 12
KANCYNAH TN3IY AHKEP XONBONT 13-16
FAMKA LWLAUB VAL
PE3bA TOMOP 19
BETOHbI TAJ3IY 20
BETOHbI OPMUIH XOLLUYY 21
HIMAAT X3P CON 22
LMHIAH TNV BYY 23
LOXWUNTTOW APUNN 24-25
XO[16J/IMOP XAMIAANANDIH X3P3ICN 26-27

4 AHKEP TEXHOJIOTU & WHUHIH TN



ww WURTH

WWHIH T34 WIT-PE 1000

Texumk y3yynanr:

Caenaraa - 585mn

XumuitH cyyps - Pure epoxy, Styrene free
©wre - Caapan

Xaaranax Hexuen/Xyrauaa - CapyyH
Xyypan Hexuenn/24 cap

8 Wir-pE 1000
& PURE EPOXY

European Technical Assessment 6ytoy ETA-
19/0542, ETA-19/0543 crangaptsiH aaryy
6aTanraaxcaH.

AH uaB yyccaH 60noH aH uasryi 6eToHn aHkep
CYYnrax MeH apmMatyp 6axnaxan XaparaHa.
©Hpnep MO3BXTaM OABMPXAM 3yypmar 6onoH
U3B3pP 3MOKCH 2 BypanasXyyH XaC3Ima.
Mertann 6akiryynamx, Metann xuiL, MOaoH
6arryynamx, Xaant, xoonom, kabensiH cysar
339PIUMH YICPANTAL ALUMIIAX TOXMPOMXKTOM,
MeH BAMryynamxmiH epreTren, XaHa Tad3Hsi
xonbont, naausiH epretren 6onoH 6axnanT,
TArTHbI YTCPANT, HYX 66rnex MeH apMaTyp H3IMX
63XM19X30 TOXMPOMXKTOM eHAep AAdL aBAX
LWMHIH OHKep.

art.no: 5918605585




] - -
Caenaraa: WIT-PE 1000 440mn, 585mn, 1400Mn coHronTTo

CaBaH A33pX TOMASMIr33:
6onoBcpyynax TaMA3MaN, XAAranax
Xyrauaa, Xaaranax remneparyp,
QloynbIH Ko, XaTyypax, bonoscpyynax

g | xyrauaa (remneparypaac xamaapu)
: .

BypannaxyyH B:
] i +— XaTtaary

!

BypannaxyyH A:
| _—  LWunran axkep

LI 0

Buryymxnax
Tar

wiTPEWITMX .
XONnnx xouwyy ' e S i \)//) | ’. o meoenrceccirors

Piston plug / Xonuruuiix @ )
ypracrary

WURTH WIT-PE 1000 -H 6eToHm Xaparnax WwaxantbiH CUCTEM

Product description ETA-19/0542
Injection system

BAPUMT BUYMI TATAX - SCAN QR CODE

Declaration - 1 Declaration - 2 Approval - 1 Approval - 2

o) AHKEP TEXHOJIOTU & WHUHIH TN



Safety data sheet -2

XATAX XYTALAA & ALIUTNAX TEMNEPATYP

Betows: Temneparyp Boouncxyrayaa | VPSS Seronaxaax | Holiron berona xarex
0°C to +4°C 90 MuH 144 uar 288 uar
+5°C to +9°C 80 muH 48 uar 96 uar
+10°C to +14°C 60 MHH 28 uar 56 uar
+15°C to +19°C 40 MuH 18 uar 36 uar
+20°C to +24°C 30 MmH 12 uar 24 uar
+25°C to +34°C 12 MMH 9 wuyar 18 uar
+35°C to +39°C 8 MuH 6 uar 12 uar
+40 °C 8 MuH 4 uar 8 uar

Awurnax remneparyp +5°C to +40°C

| WiT-pE 1000
PURE EPOXY




7] ==

European Technical Assessment
ETA-19/0542

XycHart: Pe3aba Temep cyypunyynax yayynanr

AHKepHUIH X3MK33 M8 | M10 | M12 | M16 | M20 | M24 | M27 | M30
DneMeHTHIH aMameTp d=dyom| [mm] 8 10 12 16 20 24 27 30
Opunnoax HyxHWi ouametp dg| [mm] 10 12 14 18 22 28 30 35

Nefmin| [mm] 60 60 70 80 90 96 108 120
Nef max| [mm] 160 200 240 320 400 | 480 540 600

FYHWI TOXMPOMKTOM YpT

B3X3Nr33HMI1 HyXHMS YpeaumncaH cyypunyynantds £ [mm] 9 12 14 18 22 286 30 33

flamBIR BaxancaH cyypunyynant dg|  [mm] 12 14 16 20 24 30 33 40

Xamruits vx YaHranax MOMeHT max Tinst £| [Nm] 10 20 | 40" | 80 | 100 | 170 | 250 | 300
» her + 30 mm

Xammitn 6ara 3ysaan Ppin|  [mm) ;100 mm her + 2do

Xamruein bara sai Smin| [mm] 40 50 60 75 95 115 125 140

Mpmaruitn xamruitn 6ara sai Crmin| [mm] 35 40 45 50 60 B85 75 80

4.6 33pamanuiti rantai m1 24471 XaMruitH ux apryynax moment b 35Nm 6aiina

XycHarT: ApMaTypsIr cyypunyynax yayynant
AHKEPUITH X3MXK33 8" |@10" 212" @14 | 216 | 320 (@ 24" | 25" | 328 | @ 32
SnemeHTHIH aMameTp d €s [mm]| 8 10 12 14 16 20 24 25 28 32
nom
Opunnasx HyxHuit auametp do| [mmj|10[12[12]14[14[16] 18 | 20 | 25 [30[32[30[32] 35 | 40
: : Netmin| [mm]| 60 60 70 75 80 90 96 100 | 112 | 128
TYHMWIT TOXHMPOMXKTOM ypT :
Nef max| [mm]| 160 | 200 | 240 | 280 | 320 | 400 | 480 | 500 | 560 | 640
Nes + 30 Mm 2
X iH 6 B of hgs + 2d
CAMTHIKH Odrd 3ysaaH min| [mm] 100 mm ef 0
XamruiiH Bara 3ar Smin| [mm]| 40 50 60 70 75 95 120 120 130 150
Mpmanmitn xamruiin 6ara sari Cmin| [mm]| 35 40 45 50 50 60 70 70 75 85
Bonoecpyynantaac xamaapy Op1Ana3X HYXHMIT AMAMETPMIAT b Y X3MXK33r33p asd BonHo.
XycHart: lotop pezbaraii Temep cyypunyynax yyynsnr
AHKepHHH XaMXK33 IG-Mé6 IG-M3 IG-M10 | IG-M12 | IG-M16 | IG-M20
Pesba Tempuith notop aMametp do| [mm] 6 8 10 12 16 20
Pesba TeMpwitH raoHa amametp d=dyom!| [mm] 10 12 16 20 24 30
Opunnasx HyxHWiI ArameTp dg| [mm] 12 14 18 22 28 35
" . et min| [mm] 60 70 80 80 96 120
YRHIAIDRNpRNRRION Y RY hefmax| [mm]| 200 240 320 400 480 600
BaxanrsaHmit HyxHMi ouameTp des| [mm] 7 9 12 14 18 22
XAMIMIH MX YOHFGAAX MOMEHT max Tinet | [Nm] 10 10 20 40 60 100
PesbaxeriGenoxnpelizadtiyer | (mm]| 820 8/20 10/25 | 12/30 | 16/32 | 20/40
min/max
y her + 30 mm
Xamrmitn 6ara sysaat Pmin| [mm] S0 Al her + 2do
Xamrmitn 6ara 3ak Smin| [mm] 50 60 75 95 115 140
Mpmaruitn xamruin Bara sa Crmin| [mm] 40 45 50 60 65 80
EN 1993-1-8:2005+AC2009 craHaapTiH Adaryy METPMItH X3MXK33CcT3i pe3baHa

8 AHKEP TEXHOJIOTU & WHUHIH TN



ww WURTH

WWHIH T)13IY WIT-PM 200

TexHuK y3yynanr:

Caenaraa - 300mn
XumuitH cyyps - Pure epoxy, Styrene free

©tre - Caapan e

Xagranax Hexuen/Xyrauaa - CapyyH xyypar Hexuena/ 12 E
T

cap w WURTH

WIT-Pm 200
AH uaBry# 6eToHA MEH TOOCTOHA AHKEp

63Xn3x34 AWMIMAHA.

AH uaBry# 6eToHA aHKep Cyynraxag:

Pessartan ankep W-VI- A, Pessartar ankep W- VD-A, 3.1
rAPUMNII3T AHKEPT ALMITIAHA.

Toocronn aHkep cyynraxan:

Pessatart ankep W-VI- A, 3.1 rapunnrast aHkepT awmrmaHxa.
Xo€p Xxacar peakTe AABMPXAM 3yyPMATr, CTUP3H XOSbLIry M
nonumacrep

Xaparnaxaa Maw xsnbap cUnukoHsl Byyraap Waxax Xaparnax
BONOMXKTOM.

Awmrnax sopuynant:

AH uaB yycaaryi 6€TOH MOH TOOCTOHA 63XMN3X3A ALMIMAHA.
Metan 6aiiryynamx, Metan xuiu, MogoH 6amryynamx,
XaanT, Xoonom, KabenbiH CyBar 32PruitH Yrcpantan awmrnax
TOXMPOMXTOM.

art.no: 5918242300

Baranraa:

European Technical Approval
Option 7 for uncracked concrete
Solid and perforated stone masonry and aerated concrete (b, c)



BAPUMT BUYMTI TATAX - SCAN QR CODE

Safety data sheet - 1 Safety data sheet -2

Approval - 1 Approval - 2

Declaration - 1

ww WURTH

Declaration - 2

XATAX XYTALAA & ALLMINIAX TEMNEPATYP

Betonbl Temneparyp Baxoumnx xyrayaa Bypan xarax xyrayaa
0°C to +4°C 45 MuH 180 mun
+5°C to +9°C 25 MuH 120 mun
+10°C to +14°C 20 MuH 100 mun
+15°C to +19°C 15 MuH 80 mun
+20°C to +24°C 6 MuH 45 pmun
+25°C to +34°C 4 MuH 25 muH
+35°C to +39°C 2 MMH 20 MuH
+40 °C
-5°C to -1°C Q0 MHH 360 mun

10 AHKEP TEXHOMNOTIY & WMHIOH TI3IY




ww WURTH

XycHarT: Pe3ba Temep cyypunyynax y3yynant

AHKepuimH XaMxaa M8 M10 M12 M 16 M 20 M 24
Opunnasx HyXHUA anameTp do [mm] = 10 12 14 18 24 28

hefmin [Mm] = 60 60 70 80 90 96
"YHUIA TOXMPOMXKTOM YpT

Nefmax [Mm] = 160 200 240 320 400 480
B3aXxanrasHUn HyXHWI dr [mm] s 9 12 14 18 29 26
anaveTp
HyXx U43B3priax COMTOrHbLI guameTp dp [mm] = 12 14 16 20 26 30
YaHranax MoMeHT Nm Tinst[NmM] = 10 20 40 80 120 160

. tfixmin [MmM] > 0

BaxanrasHun 3y3aaH

tfixmax [mMm] < 1500
XamruiH 6ara 3y3aaH hmin [Mm] kigrr# 20 FATT her + 2do

mn =100 mm ©

XamruiH 6ara 3ai Smin [MmM] 40 50 60 80 100 120
MpmaruiiH xamruiiH 6ara 3ai Cmin [Mm] 40 50 60 80 100 120

Hyx uaBapnax
raH comTor

Fap Hacoc (750 mn 333nXYYH)

Toxupomxkton anameTp (do): 10-¢c 20mMMm

Xaparnax gapaanan:

HyxTtan
TOOCro

Lyn
TOOCro

BetoH

TOXUPOMKTON XUIH YN33ary oyy (min 6 6ap)
Toxupomxton anameTp (do): 10-¢c 20mMMm




ww WURTH

3AXUAJIAX BOJIOM)KTOM BYCALL TOPON

WIT-PE 500 beton
art.no: 0903480001
art.no: 0903480002

WIT-UH 300 beton

art.no: 5918500320
art.no: 5918500420
art.no: 5918504280
art.no: 5918503825

WIT-VM 250 beton + Toocro
art.no: 0903450201
art.no: 0903450205
art.no: 0903450206

BapaaHsl 836 nuHk:

Awmrnargax wamant barax xaparon:

e

 Nm

12  AHKEP TEXHOMOTIY & WMHIDH TMAIY

¥Yy
AMA




Concrete temperatures

from -20°C o +40°C

w WURTH

KANCYNAH TJIIN
AHKEP XONbONT

Anchorage with European Technical Approval in uncracked
concrete (concrete pressure zone)




ww WURTH

KANCYNAH 151314 W-VD

Awmnrnax xyp3a:

\
sl A
-
& A =

g
2
o
=
=<
S
=
¥

Awmnrnax xypas:

* [yHn 60NOH XyHA AAALAHA AWMIIAX BONOMXKTOM

* AH uaB yycaaryi 6etoHn (6eton papanteit 6yc) C20/25 C50/60
XypTan

* Ankepwir primarily static auaanantan 6axanrasHa awumax 6onHo
3cBan quasi-static ayaanantay 63x3nreaHL AWKIMAX BOMHO.

* Xyypar 60noH HOMTOH BeToHL Cyypunyynx 6onHO

 Temneparyp Hb +50°C, 6orunHo xyrauaana +80° Caac xatpaxryit 6amx
éctom

* betonn xaparax < C20/25 6a napantaHa T2CB3pTaM BAMTANMIH Yynyy
e Mertann xuiu, Metann npodub, Xaant, 6G3XaNr3d XMMX3A TOXMPOMXKTOM,
XOMUIMH XABTAH, TYNryyp, MORGOH BAMryynamx, AAM HYpYyY raX MaT.

TEMNEPATYP XYYPAH Hexuenn HOMTOH Hoexuenn
+ 35°C 10 MuH 20 MuH
+ 30°C 10 MuH 20 MuUH
+ 20°C 20 MuH 40 MuH
+ 10°C 60 MuH 120 MuH
+ 5°C 60 MUH 120 MuH
+0°C 5 uar 10 uar
-5°C 5 uar 10 uar
ART.NO TOXUPOM)XTOM BIXMIrAX rYyl APURNAdX HYXHUH | YAHTANAX XYY
AHKEPUMH XOMX)3) DVAMETP TORQUE
5915010080 W-VD M10 90 MM 12 MM 20Nm
5915012095 W-VD M12 110 mm 14 mm 40Nm
W-VD IG M8
5915016095 W-VD M16 125 Mm 18 MM 8ONm
W-VD-IG M12

14  AHKEP TEXHOMNOIU & WHHIH TMAIY



KANCYNAH 111314 W-VPZ

Awmnrnax xypsa:

©Hpep 6onoH 6ara TeMneparypT anb ANKUHA Hb
awmrnax GoNoMXTONM
(6etonn -20 ° C-aac + 40 ° C xypran)

XypaaH, xsnbap, epter 6aratai xaparnaar TaHa!

* YpbOuMnaH XyBAACAH 3yYPMATMMH XIMXK33

* 3yypMarmiH XaMX33HA TOXMPYYNCAH YP AYHTIM
63X3NM33HUIM TYH WMN3H KANCyng

* Tycrat cyypunyynax xaparcan Wwaapanararyi

* OpeManertiH LOOHOT L3BIPNIX3MA XMUI33P YNadX
waapanararym

* Ayaanan erex xypran xynaax xyrauaa 6apar
6anaarryi Maw XypaaH xaraar

* XaTtyy HMMNM3N 3yypMar Hb ©POMONSIMMH HYXMHIT MOHOH BIXAI33 BATAHA

YCHOOC XAMIaasHa
* XyBaHUOP XOr XASrnan rapaxryi 6amransg 33ntai

ETA-21/0168, W-VPZ

* AH uaB yyccaH beToHa

* AH uaB yycaaryh 6eToHn "
W-VD g |
* AH uaB yycaaryh 6eToHn :

ol

l'ann TaceapTaM
DIN EN 1363-1:1999-10
F30, F60, FRO, F120

From -20°C to +40°C
Aumrnax-TemMneparyp
-20°C-aac +40°C xypran
BypaH xarcaHbl aapaax

Temneparyp
-40° C-aac +80°C xypran

Lloxuntror epemnex byHKuU3p
COHKEPUHT CYynraHa

Lloxuntros aprax xenenreen
YYCF3C3H33p CABAH [OTOPX
XOEp 3yypMarbIr XONbX ypBana
opYyynx eraer.

=
\ 4



ww WURTH

ANCHOR ROD W-VD-A/S

Awmrnax xypaa:

Betonsl W-VD 60noH WIT ankepbit HUitnman cuctema awmrnax LinHk
Bytoy uaripaH bypantrai raH pesba Temep.

* Xyypas opunHa 6apmnrbiH [OTOP ALUMINABAN UIYY TOXMPOMXKTOM
AH UQB YYCaH YyCaaryit 6ETOHA aNb ANWHA Hb ALMITIAHA.

Art.no Anxepoin auametp | Hyxumiiryn | Hyxumit guamerp Ypr
5915110130 M10 90 MM 12 Mm 130 mm
5915112135 M12 110 mm 14 mm 135 Mm
5915112160 M12 110 mm 14 mm 160 Mmm
5915116190 M16 125 mm 18 Mm 190 Mm
5915116250 M16 125 mm 18 Mm 250 mm

Awmnrnax xypsa:

Betosl W-VD 60non WIT aHkepbiH HUinMan cuctemn awmrax Stainless
steel A4 33Bapaarryh raH Temep

* W-VD-A/A4 nb 6apunrbiH [OTOP FAOHA, YMMITIM Xyypar raag Gyxui n
HeXLena aWwunrnax 6onoMXKTOM.

AH LOB YYC3H YyCaary# GETOHA anb QNMHA Hb ALWMIMAHA.

QR CODE SCAN ME
3axmanax GonomxKToM
X3IMXI3HUM COHION

16 AHKEP TEXHOMNOTU & WHMHIAH TMAIY



IAWK GALVANIZED

Xaryynar 8.8
DIN 934

DIN 934 DIN EN ISO 20898-2

ww WURTH

ISO 4032
Tepen x finametp 3ysaan (my) External drive (s1) Art. no. Taey
WmpXxar
M6 x 0.75 4.9 mm WS10 03176 075 500
M8 x 0.75 6.8 mm WS13 03178 075 1000
M8 x 1 6.5 mm WS13 03178 113 100
M10 x0.75 8 mm WS17 0317 10 075 200
M10 x 1 8 mm WS17 031710 1 100
M10 x 1.25 8 mm WS17 031710 125 100
M12 x 1 10 mm WS19 031712 1 250
M12 x 1.25 10 mm WS19 031712 125 100
M12x 1.5 10 mm WS19 031712 15 100
M14 x 1.25 11 mm WS22 0317 14 125 200
M14 x 1.5 11T mm WS22 0317 14 15 50/100
M16 x 1 13 mm WS24 031716 1 200
M16 x 1.5 13 mm WS24 031716 15 50/100
M18 x 1.5 15 mm WS27 031718 15 25/100
M20 x 1.5 16 mm WS30 0317 20 15 25
M20 x 2 16 mm WS30 0317 20 2 100
M22 x 1.5 18 mm WS32 0317 22 15 25
M24 x 1.5 19 mm WS36 031724 15 25
M24 x 2 19 mm WS36 031724 2 25
M27 x 1.5 22 mm WS41 0317 27 15 25
M27 x 2 22 mm WS41 0317 27 2 25
M30 x 1.5 24 mm WS46 0317 30 15 25
M30 x 2 24 mm WS46 0317 30 2 25
M39 x 1.5 31.8 mm WS60 0317 39 15 S

TAMK HOT-DIP GALVANIZED

Cranpapr: DIN EN ISO

Xaryynar: 8.8

Art.no Xamm33 External drive 3yzaan
03179908 M8 13 6.8
03179910 M10 16 8.4
03179912 M12 18 10.8
03179916 M16 24 14.8
03179920 M20 30 18.0
03179924 M24 36 21.5
03179927 M27 41 23.8
03179930 M30 46 25.6
03179933 M33 50 28.7
03179936 M36 55 31.0

17



IWAWB GALVANIZED (BLUE PASSIVATED)

Cranpapr: DIN 125
Larip 6ypantrai ran matepuan

Art.no Aotop anametp | Flagna guamertp 3ysaan
04074 4.3 % 0.8
04075 5.3 10 1
04076 6.4 12 1.6
04078 8.4 16 1.6
040710 10.5 20 2
040712 13 24 2.5
040714 15 28 2.5
040716 17 30 3
040718 19 34 3
040720 21 37 3
040722 23 39 3
040724 25 44 4
040730 31 56 4
040733 34 60 5
040736 37 66 5

IWAHB HOT-DIP GALVANIZED

8.8 xaryynarrai pesba TeMepT xaparnarasx

HONOMXTOM.

Xaryynar 300 HV
Cranpapr: DIN EN ISO 7089

ww WURTH

Art.no Aotop gnametp | fapna anamertp 3ysaan

040700948 8.4 16 1.6
0407009410 10.5 20 3
0407009413 13 24 2.5
0407009417 17 30 3
0407009421 21 37 3
0407009425 25 44 4
0407009428 28 50 4
0407009431 31 56 4
0407009434 34 60 5

18  AHKEP TEXHOMOTIM & WMHIDH TI3IY



PE3bBA TOMOP 1M BLUE PASSIVATED

Crannapryyn: DIN 976-1

Ypt: 1000mm

Marepuan: T'ax

Axrmnan: 8.8U

Famapryy: Zinc plated

Form: A

XamxaacuiH Tepen: Metp

Tanux enre: Traffic yellow RAL 1023
RoHS-o Huiucan: Tuim

PE3bbA TOMOP 1M HOT-DIP GALVANIZED

\ AREEE 1M1
II||| ||||i||!||||
| EADE |

Crannapryyn: DIN 976-1

Yp1: 1000Mm

Marepuan: l'an

Atrmnan: 8.8U

Fanapryy: Hot-dip Galvanized

Form: A

XamxaacuiH Tepen: Metp

Tanux enre: Traffic yellow RAL 1023
RoHS-o Huiucan: Tuim

L Mw

A A s

e

ww WURTH

Art.no Avamerp
0959006 Mé
0959008 M8
0959010 M10
0959012 M12
0959014 M14
0959016 M16
0959018 M18
0959020 M20
0959022 M22
0959024 M24
0959027 M27
0959030 M30
0959033 M33
0959036 M36
0959048 M48

Art.no Xamux33
09597008 M8
09597010 M10
09597012 M12

095970016 M16
09597016 M16
09597020 M20
09597024 M24
09597027 M27
09597030 M30
09597033 M33
09597036 M36

19



ww WURTH

BETOHbI TIJI2IY W-HAZ-S/$

BetoHn Temep, MOA 33pruir 63XNaX30 XP3IrMaH3.
ETA-02/0031 craHmapTsir XaHracaH.
C20/25 aac C50/60 cranpaprras 6etoHn

X3P3MM3HI.

|’r“ : s
4 i -
5 .
f - i - == -

Art.no Aukepuiin guamertp Hudir ypr Yauranax xyu
0905212001 M8 75 MM 30 Nm
0905212003 M8 107 mm 30 Nm
0905212004 M8 127 mm 30 Nm
0905215004 M10 138 mm 50 Nm
0905218004 M12 147 mm 80 Nm
0905224002 M16 152 mm 160 Nm

BETOHbI T2J13I4 W-FAZ /S

BetoHa Temep, Mon 32pruir 63xN3aX3A X3PIrNIH3.
Approval ETA-99/0011 craHnapTthir xaHracaH.
C20/25 aac C50/60 cranaaptrai 6etoHg

B a"ﬁfd; iy
1 L ARG ) ——
Art.no Ankepuiin guamertp Hudir ypr Yauranax xyu

5928208030 M8 95 MM 20 Nm
5928208050 M8 115 mm 20 Nm
5928210030 M10 130 mm 25 Nm
5928210050 M10 130 mm 25 Nm
5928212020 M12 115 mm 45 Nm
5928212030 M12 125 mm 45 Nm
5928256015 M16 115 mm 90 Nm
5928216025 M16 145 mm 90 Nm
5928216050 M16 170 mm 90 Nm

20  AHKEP TEXHOJNOIHU & WHMHIIH TINAIY



BETOHbI OPOM SDS PLUS

Opunnnui opont: SDS -Plus
4x90 ° 4 vptan.

Art.no Anamerp Hudit yprmm | Upsmit ypr mm
0648175016 5 160 100
0648175516 55 160 100
0648176011 6 110 50
0648176016 6 160 100
0648176516 6,5 160 100
0648176511 6,5 110 50
0648176521 6,5 210 150
0648178016 8 160 100
0648178021 8 210 150
0648171016 10 160 100
0648171021 10 210 150
0648171216 12 160 100
0648171226 12 260 200
0648171221 12 210 150
0648171436 14 360 300
0648171431 14 310 250
0648171426 14 260 200
0648171421 14 210 150
0648171631 16 310 250
0648171636 16 360 300
0648171626 16 260 200

BETOHbI OPOM SDS PLUS CET

Opunnuuit opont: SDS -Plus 4x90 ° 4 mpran.

Huor 8uw:

5.0X50X 110mMm
5.0 X 100 X 160mm
6.0 X50 X 110mm
6.0 X 100 X 160mm
8.0 X 50 X 160mm
8.0 X 100 X 160mm
10.0 X 100 X 160mm
12.0 X 100 X 160mMm

ww WURTH

21



7] ==

©pemnanervittH LOOHOTMUIMT YN33XK LIIB3PNAX 30PUYNANTTAN.
Q00mn araap ynaax GONOMXKTOMN.

art.no: 5918242300

Art.no Xamu33
0905499001 12X110MM
0905499002 14X120MMm
0905499003 16X160MM
0905499004 [ 20X185mm
0905499005 | 26X235mMm
0905499006 | 28X280mm

! | e o e —

Mé 270mm yprran art.no: 0905499111

SDS-plus oponroit art.no: 0905499102

DIN EN ISO 6789:2003 crangaptbiH aaryy

o, > > >~ -
* 3 % - UMH HOpUIMBYNANTAM. E—J?."I"" R ——
L AP — R —

XaMX33r TOXMPYYNAXaa MaLl X9nbapxaH.
Axunnaraar wanracaH ceptmMdmKaTian.

XyBAHLApP XAMPLArTaM.

Art.no Xamud Ypr Yauranax xyu
07147119 1/4" 168 mm 1-5 Nm
071471 20 1/4" 220 mm 4-20 Nm
071471 21 3/8" 350 mm 20-100 Nm
071471 22 1/2" 350 mm 20-100 Nm
071471 23 1/2" 440 mm 40-200 Nm
071471 24 1/2" 570 Mm 60-300 Nm
071471 26 3/4" 850 mMm 110-550 Nm
071471 25 3/4" 1750 mm 300-1000 Nm

22  AHKEP TEXHOJNOIHU & WHHIIH TINAIY



ww WURTH

WIT-VM 100: 150 mn, 330 mn, 420 mn

WIT-UH 300: 280 mn, 320 mn, 420 mn

WIT-VM 250: 330 mn, 300 mn, 420 mn

WIT-PE 500: 385 mn, 585 mn

WIT-EA 150: 150 mn, 330 mn

WIT-PM 200: 150 mn, 300 mn, 330 mn

WIT-Nordic: 330 mn WIT-EXPRESS: 330 mn 33par whHraH

TNAMYYA3A X3P3aX BONOMXKTON.

WIT-PE WUWHIOH TINMITYHUNA BYY

WIT-PE 500: 385 mn, 585 mn
WIT-PE 1000: 585 mn 6yyHn xaparnaHa.

art.no: 0821018

WIT-PM 200 WWHHIIH TINIYHUM BYY

310 Mn o8 WKHHI3H Tan3r4 GONOH CUMMKOHL X3P3IMaH3.

art.no: 08921003105

art.no: 0891001

APPLICATION GUN WIT

WIT-PE 500: 385 mn 6yyHa xaparmaHa.

art.no: 0891009

23



ww WURTH

WURTH HAMMER DRILLS

24  AHKEP TEXHOMNOIM & WMHIAH TIMAIY




LLOXUNTTOM BATAPEM & LLAXUIITAAH APUNN

ww WURTH

Bapaanbi Ne. Tainbap 3ypar Texuk yayynanr
3arsap
57082051 Moan, uynyy metanna ©pmmitH opont - SDS-Plus
HAMMER DRILL | xaparnax 6onomsxrom Mortopebit xyu: 830 Barr
H 26-MLS LIOXMNTOT, LLOXMATIYM Oprantmin gypa: 0-1300 (rpm)
HONOH Xacyyp rax rypBaH Uoxunrtot aprantmin xypa: 0-4000 rpm
dyHkutaM. Tomep HornoH UoxuntbiH xyu: 2,7
BeToHn xaparmnax 2 eep Kuh - 2.9 kr
CONbAOT XOLWYYTAM.
07025432 32 MM XYPTaN X3aMXK33TaM ©pmuitH opont - SDS-Plus
DRILL AND BETOHbI BPOM XIPIIIHA. Mortopsin xyu: 900 Barr
CHISEL HAM- FapT unumpras 6ara xura Sprantuitk aypa: 0-760 (rpm)

MER BMH 32-XE

COKMNNAraaTanm.
LloxmnTbiH Xy4 MaL camH
yuup MonoTtok 6onrox
awwmrnax GoNoOMXTONM

Uoxunrtot aprantuin xypa: 0-4000 rpm
UoxuntbiH xyu: 4,2
Kun -4.7 kr

5717003011

40 MM XYpTam XaMXK33TaM

©pmuiH opont - SDS-MAX

ELECTRIC BeTOHbI OpPOM X3PIIMIH3. Motopsin xyu: 1100 Barr
HAMMER FapT unumpras 6ara xura SprantuitH gypa: 235-500 (rpm)
DRILL EHD 40 | axunnaraatai. LoxmnteiH xyu: 7,5
COMBI LloxmnTeiH xy4 Maw camH Kuh - 6.4 kr

yuup MOMOTOK HOnrox Kabenuitn ypt - 2m

awmrmax 6onoMXKToMN
07025571 Xyutai & XeHreH Spmuin opont - SDS-MAX
HAMMER Hoprunt 6aracraruta. Mortopbin xyu: 1500 Barr
DRILL DPranTuiH LOXMATbIH Sprantuitd aypa: 0-350 (rpm)
BMH 45-XE XyPabIr TOXMPYYNax Loxuntbin xyu: 12,5

6onomxrown. Cortror Kun - 8.9 «r

myyacaH yen LED rapnasp Kabenuitn ypt - 4m

TOXMO ©rHe.
5701403004 LWovtrorry#t MoTopTOM. ©pmuitH opont - SDS-Plus
CORDLESS LED rapantan. Boner- 18 V/DC
HAMMER Motop xamraanaryram. Oprantuitd aypa: 0-1400 (rpm)
DRILL ABH 18 | 2w 6arapen + usHarmary Uoxuntot aprantuin xypa: 0-4800 rpm
COMPACT Drill Chuck, xaripuar Uoxuntein xyu: 2,5)
M-CUBE OAranoaHa. Kuw - 3.7 kr

Barapert: 18V/DC 2 x 5.0 Ah

57008013 Worirorry#t EC motopTom. ©pmmitt opont - SDS-Plus
CORDLESS Mortop xamraanaryras. Bonbt- 18 V/DC
HAMMER Yuumpras caapyynarytam. Sprantuitn aypa: 0-1350 (rpm)
DRILL 2w 6araper + usHaM3MN Uoxwuntot aprantuin xypa: 0-5000 rpm
H 28-MAS Drill Chuck, xaripuar Loxuntein xyu: 4,1)

naranoaHa.

Kun - 4.75 kr
Barapei: 28V/DC 2 x 3.0 Ah

25



7] ==

BypaH asroMar wyyntyyp uaBapnax GyHKUTIHM ONOH YHNL3NT TOOC COPOTY.
EN 60335-2-69 craHaapTbiH Aaryy To0Chir COPox yp Henee Hb 99%
xyptan 6ytoy Toochsi Lcertificate - tai1, Biopt 6paHamitn 6arax 6onoH
Bycan XaparcnuiH Xampurmir 6ampnyynax 601oMxTon. Xoonow, xowwyy,
LAXMIATAAHbI YTAC 33Par BYPANASXYYH X3CTYYA Wyya X3paraxan 63nH32p
xypaaraaar. 15 - 60 cek-a wyyntyypas 4aBapnax, Xypaaa ToxXmpyynax
r3CaH QyHKLUYYATIM. ©ep A33P33 HIMINT LAXMUTAAHBI TIXKIINTIM Ty
LAXMITAAH X3P3rCYYA TOOC COPOrYA00 3ATaX X3P3rax GONOMXKTOMN.
Laxmnraansl 1axa3n - 230 V/AC

Xyu - 1380 Bartr

Barraamx - 30 nutp

Araapsit aprant - 74n/MuH

Hapant - 23Kpa

Hyyrapant - 69 06

XAMTAANANTbIH BAT PROGUARD

* byTaH HyypHMI 6ar Hb HYYpP OyXbIr GYP3H XAMIAamHa.

* XOHreH, 3BTIMX3H, OHOOPUMH TOXUPYYNAryTam

* baruiir epreen xyccaHaapas Toxmpyymk 6apux GoNoMKTOM
* Ypo xamraanant Hb NonnkapboHAT Matepmantai 6a XyHXrap
X3n63PTaM Tyn LOXMNT BOMOH WMHIBH 3yMN33C HAMABAPTA

xamraanxa. art.no: 0899101225

-

MD 12 BAUPLUUAN UPYYIDIN

Temep unpyynax rys 120 mm art.no: 5709300800
3ac unpyynax ryn 80 Mm

Kaben unpyynax ryn 50 mm

Mog unpyynax ryn 38 mm

Ousxumran temep, mon 6onox kaben unpyynary.

ABTOMAT TOXMPYYNTA Hb QNAAATAMN MAPYYN3ATIAC CIPTUMIHD.
naBxTa1 60NOH MASBXTYH KABenbIr TOBOIMYM MAPYYIH3.
XaHA HYXN3X3A OHOBYTOM LTMMT ONXOA MaL Xanbap.

4

CETUS® XAMTAANANTDBIH HYAHWUM WIAN

MonukapboHaT wunTait

3yparnax 60n0H LaHTaxXryM

LLnnmitr conmx 6onomxToR.

TonroMH XaMXa3HA TOXMPYYNAH XaIMXKI3T TOXMPYYNax ByuTai.
400 HM XYypPTaM X3T SrAQH TySAHbI XOMIAONANTIAM.

art.no: 0899102110

26 AHKEP TEXHOMNOIM & WWHIAH TIMAIY



ww WURTH

CETUS® XAMTAANANTBIH HYAHWUM WIMN
Cnoprnor 3arsaptai, 100% xaT SraaH TysaHbl xamraanantram, ;
3yparaa>K LAHTOXIYM XAMIAGNANTbIH HYAHUM WK, ¥ _
EN 166, 172 craHaapTyyasIr XaHIacaH. \ -~

©Hre - uaraat, caapan
art.no: 0899102321

APbCAH AXXIbIH B331HIA

[apbIH ANra Xacar Hb MALL CAMH YAHAPBIH APbLC.
Ap X3Car Hb XATyy XOBEH NAABYYH MATEPMANTAM.

Cranpapr - EN 388, 420
art.no: 5350000110

TIGERFLEX® AXJIbIH B33MHH

Xypyy 6ONOH rapbiH ap X3Cra3p 3yC3ATa3C XAMIaancaH opyynratai.
Ypr: 410 mm

Cranpapr: EN 388, EN 420
ISO 13997 -C,

Xamxa3: 8,9,10

art.no: 08994513**

XAMTAANANTBIH YUX3BY

34 dB xypTan oyy 4MMa3HIIC XAMIQANAx XAMIaananTbiH YMX3BY.
X3parnaxan MaLl 3BTIMX3H.
LlaBxap XxamraananTtbliH HYOHWM WKN 3yYX3A TyXTAM.

art.no: 0899101225

XAMIAANANTBIH YUXOBY W3 /34

34 dB xypTan oyy uMMaI3HI3C XAMIAANax XAMraananTbiH YMX3BY.
X3parnaxan MaLl 3BTIMX3H.
EN 352-1 ctannapraap tectnaracaH.

art.no:0899300354

27



w WURTH

AHKEP TEXHOJIOI'! LLMHIH TN

K># a1y anapTmeHTc 6B - 2 oot CtaanoH oprun, YMHrucMuH epreH uenee
15-p xopoo, Xan-yyn ayypar Ynaaubaarap 17010, MoHron ync

E-wyyaan: info@wuerthmongolia.com




